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XUA-ABRBEIET 4 E
G A7
% 4 Radh | KA T R " T R ] ]
R Vel I e lC 174 T I B N oW
ath | Ve | WY | Ve |V
R1FL 7 159.75 634.95 3.97 606.75 3.80 -
10FL 7 250.75 772.52 3.08 0.78 790.17 3.15 0.83
9FL y 332.07 822.50 2.48 0.80 789.29 2.38 0.75
8FL 7 403.72 892.01 2.21 0.89 843.72 2.09 0.88
7FL 7 465.70 989.60 2.12 0.96 929.48 2.00 0.96
6FL 7 520.01 1036.06 1.99 0.94 929.79 1.79 0.90
SFL 7 564.36 1078.41 1.91 0.96 1025.04 1.82 1.02
4FL 7 598.78 1142.18 1.91 1.00 1038.40 1.73 0.95
3FL 7 623.15 1218.03 1.95 1.02 1095.00 1.76 1.01
2FL 2 638.95 1163.24 1.82 0.93 1142.42 1.79 1.02
Friegsgpdasys > iz- &
NAR BRKBE T o ARt % .
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4FL | I
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4 5 6 0.4 0.6 0.8 1.0 1.2
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PRS0 R RBE D L RB5E

bt ]

Bl | % (M) * g
12F 2.85

11F 2.85

10F 2.85

oF 2.85

8F 2.85

7F 2.85 PEXE
6F 2.9

5F 2.9

4F 2.9

3F 3.0

2F 3.2

1F 4.0 e
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% 6|B-1EUE T4 38
S 6IB % 4 fE R T4 8
XA TS| U T V,; ' EHRCHET 4 B A

Ll B S R i L R B

12F 209.12 512.41 2.45 - 12F 299.20
11F 330.53 680.75 2.06 0.84 11F 299.20
10F 441.72 833.33 1.89 0.92 10F 299.20
OF 542.27 998.45 1.84 0.98 OF 299.20
8F 632.43 1188.83 1.88 1.02 8F 299.20
/F 712.16 1301.88 1.83 0.97 /F 299.20
6F 783.01 1396.94 1.78 0.98 6F 299.20
SF 842.99 1560.43 1.85 1.04 SF 299.20
4F 892.09 1593.52 1.79 0.96 4F 299.20
3F 930.33 1656.34 1.78 1.00 3F 299.20
2F 957.11 1849.21 1.93 1.09 2F 482.45
1F 973.01 1650.12 1.70 0.88 1F 183.25

NAR REBUF
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% 5IB-§ BRI EBE
3} SRS }

e | a [ aagren | o | D

V,:(th) ok x| 2R HERCHR Vi (tF) V. |\

V1 Vs
12F 209.12 676.97 581.03 676.97 3.24 i
11F 330.53 845.31 673.61 845.31 2.56 0.79
10F 441.72 997.89 757.53 997.89 2.26 0.88
oF 542.27 1163.01 848.35 1163.01 2.14 0.95
8F 632.43 1353.39 953.06 1353.39 2.14 1.00
7F 712.16 1466.44 1015.24 1466.44 2.06 0.96
6F 783.01 1561.50 1067.51 1561.50 1.99 0.97
5F 842.99 1724.99 1157.44 1724.99 2.05 1.03
4F 892.09 1758.08 1175.64 1758.08 1.97 0.96
3F 930.33 1820.90 1210.18 1820.90 1.96 0.99
2F 957.11 2114.56 1499.52 2114.56 2.21 1.13
1F 973.01 1750.90 1090.82 1750.90 1.80 0.81
R I
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% 5IB-12 R4 A 15 1

AT ERER
XEETA | BT | V| W W
we | SO 216D /6D
Vei (1) Vpi (t1) Vei V' /e
3F 930. 33 1820.90 | 1.96 0. 99
2F 957. 11 2114.56 | 2.21 1.13
IF 973. 01 1750.90 | 1.80 0. 81
I3 A 47 5 5
L2t R P4 fém\%gﬁyi Vi % %
we | SO 216D/ i
Vei<tf> Vpi(tf> Vel Ve Ve
3F 930. 33 2129.93 | 2.29
2F 957. 11 2382.63 | 2.49 1.09
IF 973. 01 2534.00 | 2.60 1. 05
NAR ELTCUE:
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| = RIF~R3F | 3.00 Bl 455 - ki
s i 23F 7.00 EX R
Bt | 13F~22F | 3.50 BL0z s Hh
= : 1IMF~12F |  3.40 N AN
i i 1F 7.15 EYRYY
i3 . i 7Rk T A N SO
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% 5|C-2 L = K HeaTzd
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HOIC-ZHEEIET 4 ¥

HOICHE F AR T4 3 E

ko Ry gT 4 | BUET S | Yy :ﬁ)i/(ﬁ)i+1 - P HRCET 4 B R
Vei(tf) Vpi(tf) Vei [Veo'/ Ve (tf)

11F 2155.82 3601.39 1.67 1.00 11F 719.13
10F 2222.69 3711.62 1.67 1.00 10F 719.13
oF 2283.53 3841.51 1.68 1.01 OF 719.13
8F 2338.35 3955.87 1.69 1.01 8F 719.13
TF 2387.15 4082.31 1.71 1.01 TF 719.13
6F 2429.93 4140.30 1.70 1.00 6F 719.13
5F 2466.68 4189.07 1.70 1.00 5F 719.13
4F 2500.06 4278.21 1.71 1.01 4F 719.13
3F 2525.95 4394.73 1.74 1.02 3F 719.13
2F 2548.53 4665.59 1.83 1.05 2F 719.13
1MF 2558.97 4284.64 1.67 0.91 1MF 2161.26
1F 2931.97 4448.43 1.52 0.91 1F 1436.33

NAR RRBUIR

58



% 6|C-2L 2 HRCRB B LR T 4

2L 5
2

NAR

” L span g ”

s | T e | | 2y @,
V,(tf) ok e | 2R HERCH |y Vei [V,

Vo1 Vo

11F 2155.82 3996.91 2699.89 3996.91 1.85 1.00

10F 2222.69 4107.14 2760.52 4107.14 1.85 1.00

OF 2283.53 4237.04 2831.96 4237.04 1.86 1.00

8F 2338.35 4351.39 2894.86 4351.39 1.86 1.00

TF 2387.15 4477.83 2964.40 4477.83 1.88 1.01

6F 2429.93 4535.82 2996.29 4535.82 1.87 1.00

5F 2466.68 4584.59 3023.12 4584.59 1.86 1.00

4F 2500.06 4673.73 3072.15 4673.73 1.87 1.01

3F 2525.95 4790.25 3136.23 4790.25 1.90 1.01

2F 2548.53 5061.11 3285.21 5061.11 1.99 1.05

1MF 2558.97 5473.33 4517.81 5473.33 2.14 1.08

1F 2931.97 5238.41 3882.97 5238.41 1.79 0.84

B REB IR
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% GIC- 2B RCH R 1

AT R S
XFATA | BUETL | Y V. Vi
e | 26 P
Vei(tf> Vpi<tf> Vei Ve Ve
2F 2548.53 5061.11 1.99 1.05
IMF | 255897 5473.33 2.14 1.08
1F 2931.97 5238.41 1.79 0.84
B4R A 172 5
?\;Q?“"%E"’J ﬁ_;_m\%gﬁyi V. % %
| 216D/ B
Vei (1) Vpi(t1) Vei Ve 1 Ve
2F 2548.53 5188.82 2.04 -
IMF |  2558.97 5879.65 2.30 113
1F 2931.97 5971.29 2.04 0.89
NAR 8 SR
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HHIC-AMETE ¥ 4 3

AT 4 R
R | (tf)
11F 132.12
10F 132.12
o9F 132.12
8F 132.12
F 132.12
6F 132.12
SF 132.12
4F 132.12
3F 132.12
2F 132.12
1MF 396.92
1F 355.32

NAR BRKBE T
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HHIC-AMETE ¥ 4 3

NAR

) i g )

K wl REETS e 4o : AT i (E)i/(E)Hl

Vuth | BEF AR A Vpi(tF) Ve |V,

Vpl sz
11F 2155.82 3693.87 2653.09 3693.87 1.71 1.00
10F 2222.69 3804.10 2730.25 3804.10 1.71 1.00
9F 2283.53 3934.00 2821.18 3934.00 1.72 1.01
8F 2338.35 4048.35 2901.23 4048.35 1.73 1.00
TF 2387.15 4174.79 2989.74 4174.79 1.75 1.01
6F 2429.93 4232.78 3030.33 4232.78 1.74 1.00
5F 2466.68 4281.56 3064.47 4281.56 1.74 1.00
4F 2500.06 4370.69 3126.87 4370.69 1.75 1.01
3F 2525.95 4487.21 3208.43 4487.21 1.78 1.02
2F 2548.53 4758.07 3398.03 4758.07 1.87 1.05
1MF 2558.97 4562.48 3396.17 4562.48 1.78 0.95
1F 2931.97 4697.15 3469.22 4697.15 1.60 0.90
REIBTTIR
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% GIC- 3 RIIL 1 1

AT E SR
22l R OB A4 TR 74 ,
R 5l KA T Do (E)i/(ﬁ)l#l
Vei (t1) Vi (1) Vei Ve Ve
2F 2548.53 4758.07 1.87 1.05
1MF 2558.97 4562.48 1.78 0.95 y zal ;Z ";J-ﬂa_r ‘-FL; I l—,ia fpn];}’g; A
1F 2931.97 4697.15 1.60 0.90 Y =
17302 - iR
Rl A 47 % % (S A KRR, |
—:‘—:‘J-:‘:fJJ ém\:gﬁyi V. | %
& 5 KA Ll £ (_p)i/(_p)Hl
Vei<tf) Vpi(tf> Vei Ve Ve
2F 2548.53 4461.63 1.75 -
1MF 2558.97 4733.15 1.85 1.06
1F 2931.97 4825.45 1.65 0.89
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1. A3 RGeS 7> 2 5%eE Y M G2 AT 4 2 %

WO A T H - PR > TR A IR T A 2 2 .

i+1
Mpb,L

9

Mi+1

r PD.R
N

(

N MM
v U

)
)

N
Mzi9b.L Mzi)b,R
o = Mpb,L + Mpb,R VM _ MW,TOP + MW,BOT Vwall = min(VM, Vn)
Meb,L + Meb,R h

My, = a X M, Vo = (ac\/ﬁ + pefy)Acy % = Vrrame + z Vwall/
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pa ey S i

7}}53‘5\1)‘% ’ifs 3

Virame + 0.55 Z Vecwai + 0.70 z Vaw
0.55Virame + z Vacwan + 0.90 z Vaw

0.70Vfrgme + 0.85 Z Vecwatl + z Vaw

maX(Vpl, sz, Vpg)

NAR BRKBE T

67



5

-g;\;

o S
RIFL
3FL
2FL

NAR ! a2bs BREBUH R

Floor No.

R1FL

10FL |
9FL |
8FL
TFL |
6FL |
5FL f
4FL |
3FL
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1FL
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7 "”%%j’"?‘:%_”/;
CER SR A AR e ]
L0 o R4 B A
o fips i |7 AR | -k
(kgf /em?) uw |l
- A 9 20
1
£ i 5 10
Z#RFC 22 30
RCA#
F T 18 25
& &k 5.5 5.5
B R
E N IR 3.8 3.6

NAR

SZN R BIK - BIRESA

@ms XUR) , - ABEIEEZERAMFRABPERS - &b - 2019 -

Wi Sl e

5B R RCH pa gt - AR 4r £ 4

Arew Apw ac dic

RCH& A 35 1. 00 0.90 0.75 0. 55

FE 5 B 0.95 1.00 0. 80 0.65

] e

r

— Al B 0.85 0. 80 1.00 0. 80

& FLAL 3k 0.70 0.55 1.00 1.00

RCAE A 35 1.00 0.90 0.90 0.70

Lk FE R R 0.85 1.00 0.95 0.75
IV

- A Al 0. 65 0.95 1.00 0.85

o el 0.15 0.75 0. 80 1.00

==Y i e R S e S Y N e P B S e C A RS




EER SRR Al A ) R bR L B
RCA& B3 P -
Ve = 302,4% +0.90 x 5.52Abw +0.90 x ZOZAC +0.70 x 1oZAlC
R
V,, =  085x 302,4% + 5.52Abw +0.95 x ZOZAC +0.75 x 102Alc
- gk
Vs =  065x BOZATCW +0.95 x 5.52Abw + ZOZAC +0.85 x 102/116
£ L HPF

Vpa = 0.15 X BOEATCW + 0.75 X 5.52Abw + 0.80 X ZOZAC + 102/110
*@-m‘% Eﬂ ? V _ maX( pl, 'p2r 'p3r 4)

SENR : BUR - BRESA - "TERAERREmERIITFMAREEEAIREEF 5 E (R E RS
XiR) - ABEEEERTMAETEHPHS - 516 - 2019 - 70
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Voo = Vyrame + 055 ) Vacwan +0.70 ) Vo

W | ABHRCE | @B

L2 HRCIE B
ﬁ_ E gk 3 1.00 0.55 0.70 # i

e Vo = 0.55Vamet Z Vecwat + 0.90 z Ve

i j& 1 0,55 1.00 0. 90

% A L

e | 0.70 0. 85 LI N S Vot + Y

*@KQ% B4 Vp = maX(Vpl, Ver VpS)
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